EEEMEMK GRS HEZHET2 3&FEM TRAEHEER
* B|EHEZS . THitachi-Aloka TCS-172B] *BES: 1m * B uSv./h (4B —RJL k)
T B TRABE | RF4F | SF5FE | KHSFE | HHSE | HF06FE | HH6E [ H23 10 EOHR
108 118 2R 5H 8H 118 2R 1 el b=

1 |EETH |ZEETHARERISIES 0.146 0.047 0.043 0. 040 0. 050 0.043 0.047 A 0.099 66%
2 | BB HMBELREEFEESG 0.129 0. 040 0.037 0. 040 0.030 0. 040 0. 040 A 0.089 T7%
3 | MF HOFHREREHS 0.145 0. 040 0. 040 0. 040 0.037 0. 040 0. 040 A 0.105 74%
4 | 1% HOFHEKLE 0.209 0.033 0.030 0.030 0.030 0. 040 0.027 A 0.182 86Y%
5 | BHH REZERIGEIAE 25HES 0. 096 0.023 0.030 0.030 0.030 0.030 0.027 A 0.069 69%
6 | BFH A OFHEFREREEIS 0. 207 0.047 0. 050 0.047 0.033 0.047 0.047 A 0.160 84%
7 | HE XKHLAREEEIHIS 0.106 0. 040 0.047 0. 050 0.047 0.043 0. 040 A 0.066 56%
8 | MR |25 EH%E 2 &RIEBIE T 0.118 0.030 0.030 0.033 0.030 0.030 0.030 A 0.088 75%
9 | RIR [RIROREEFER 0.093 0. 040 0.033 0.030 0.043 0.037 0.030 A 0.063 54%
10 | [RET |[FRAREREIHIS 0.125 0.037 0.047 0.037 0.037 0.030 0. 040 A 0.085 70%
11| NFE |1 5E%E 2 8BEERERT 0.114 0.037 0.043 0.030 0.033 0.037 0.037 A 0.077 1%
12 | €H EHALAREEHES 0.108 0.047 0.033 0.030 0.033 0.030 0.030 A 0.078 69%
13 | #F |J REBEERETEIS 0.206 0.047 0.043 0. 050 0.037 0. 040 0. 050 A 0.156 82%
14| RE [BEBE—INJSUF 0.287 0.030 0.027 0.033 0.033 0.033 0.030 A 0.257 89%
15 | BT HMOBEKEEEHES 0.067 0.033 0.030 0.023 0.030 0.027 0.030 A 0.037 55%
16 | A8 |[BEBEEZNISVF 0.218 0.063 0. 050 0. 057 0.033 0.053 0. 057 A 0.161 85%
17 | =8 | XBDFZEES 0.098 0.023 0.023 0.027 0.027 0.030 0.030 A 0.068 72%
18 | EA ([EH - EEZBME XL 0.134 0.033 0.033 0.033 0.033 0.037 0.037 A 0.097 75%
19 | XF |KF - ML EHEEEEHEIS 0.140 0.043 0.043 0. 040 0.043 0. 040 0.047 A 0.093 69%
20 | 4 FRERRESEIS VR 0.176 0.033 0.037 0.030 0. 040 0.037 0.030 A 0.146 T7%
21 | R1E |[RELAREEETHIS 0.114 0. 040 0.037 0. 040 0.030 0.030 0.033 A 0.081 74%
22 |[ZAER|FK - B/ \R{EFIEE 0.074 0. 050 0.047 0.043 0. 040 0. 040 0.047 A 0.027 46%
23 | R#AK|4 2EHE 1 EREFFE SR 0.102 0.037 0.030 0.037 0.027 0.037 0.037 A 0.065 74%

T8 0.140 0.039 0.038 0.037 0.035 0.037 0.038 A 0.102 75%

=AE 0.287 0.063 0. 050 0. 057 0. 050 0.053 0. 057 A 0.230 83%

=/ME 0.067 0.023 0.023 0.023 0.027 0.027 0.027 A 0.040 60%




